Year 4 Reasoning Paper 1 (  questions 2017)


Reasoning paper 2 questions 
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e Complete this table with the missing numbers.

One row has been done for you.

Number 1,000 more
3,500 4,500
85
9,099
15,250
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Write the missing numbers.

wnows= [y
72 hours = I:I d
84 dave= I:I e
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A group of friends earns £80 by washing cars.
They share the money equally.

They get £16 each.

How many friends are in the group?

[ ]





image10.png
Chen uses these digit cards.
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She makes a 2-digit number and a 1-digit number.
She multiplies them together.

Her answer is a multiple of 10

What could Chen’s multiplication be?
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The children at Farmfield School are collecting money for charity.
Their target is to collect £360

So far they have collected £57.73

How much more money do they need to reach their target?
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Here is the morning timetable for Chen'’s class this week.

Time Mon | Tue | Wed | Thu Fri

9:00am-10:30am | Maths | English | Maths | English | Maths
10:30am-11:00am| Break | Break | Break | Break | Break
11:00am-12:00pm| English | Maths | Science | Maths | English

What is the total number of hours for English on this timetable?
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A bottle contains 568 millilitres of milk.

Jack pours out half a litre.

How much milk is left?
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24 white 12 red
balloons balloons
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Adam buys 6 bags of white balloons.

Chen buys 3 bags of red balloons.

Adam says,

‘I have four times as many balloons as Chen.’

Explain why Adam is correct.




image15.png
.

).





image16.png
Circle the pentagon with exactly four acute angles.
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Look at the letters below.

Circle the letter below that has both parallel and perpendicular lines.
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Dev thinks of a whole number.
He multiplies it by 4
He rounds his answer to the nearest 10

The result is 50

Write all the possible numbers that Dev could have started with.
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William asks the children in Year 2 and Year 6 if they walk to school.

This graph shows the results.
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Altogether, how many children don’t walk to school?
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How many more Year 6 children than Year 2 children walk to school?
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Write the missing numbers to make this multiplication grid correct.
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. This table shows the heights of three mountains.

Mountain Height in metres
Mount Everest 8,848
Mount Kilimanjaro 5,895
Ben Nevis 1344

How much higher is Mount Everest than the combined height of the
oother two mountains?




